
     
www.11plusguide.com Y4 Block 2 Assessment PART 1 

Answers and suggested mark scheme 

Question 
Number 

Answer Comments 
24 marks in total 

Level 

1 48 < 81  
92 > 23 
54 > 45

2 marks for all correct. 
1 mark for at least 2 
correct. 

2a 

2 660 → 700 
375 → 400 
650 → 700 
542 → 500 

2 marks. 
1 mark for at least 2 
correct. 

3a 

3  2 marks for all correct 
1 mark for at least 3 
correct 

3a 

4 a) 
b)

5 

6 a) 1 

b)  3
7 c) 60

d) 1 
e) 2k

8  
quad

n
quad
+ 41 34 43 
54 95 88 97 
23 64 57 66 
35 76 69 78 
889
166

a)1 mark  
b) 2 marks for correct 
answer. 1 mark for correct 
working if answer wrong. 

3b 

For each grid: 
1 mark for 3 correct 
2 marks for 6 correct 
3 marks for all correct 
 

3a 
 X 0 10 5 X 4 6 3 

6 0 60 30 10 40 60 30 
3 0 30 15 2 8 12 6 

10 0 100 50 5 20 30 15 
kg bag a) 2 marks for correct 
answer, 1 mark for correct 
working if answer wrong 
b) As above 

4c 

0g  or equivalent 
kg 500g or equivalent 
g 100g or equivalent

1 mark . 
1 mark . 
1 mark . 

4c 

2 marks for all correct. 
1 mark for at least 3 
correct. 

3a 
r

r

regular not regular 
ilateral F 

 
B 

ot a A, C D, E 

ilateral 



 

              www.11plusguide.com  Y4 Block 2 Assessment PART 2 
Answers and suggested mark scheme 

Question 
Number 

Answer Comments 
24 marks in total 

Level  

1 Any 4 true statements e.g. 
1613 < 2349                                          
2349 < 2931                                           
7615 >2931                                          
2931 > 2349 

2 marks for all correct. 
1 mark for at least 2 
correct. 

3a 

2   57 →   60  → 100 
629 → 630  → 600 
  73 →   70  → 100 
585 → 590  → 600 

2 marks. 
1 mark for at least 2 
correct. 

3b 

3  
 
 
 
 
 
 

2 marks, for  all correct. 
1 mark for at least 2 
( accept equivalent 
fractions)  

3a 

4 59 + 41 or 57 + 43 1 mark for either answer 3b 
5  For each grid: 

1 mark 3 correct 
2 marks 6 correct 
3 marks for all correct 

3a 

6  2

7 3
8 £

9 2

10 a)
b
c)
d

 

X 6 5 3  X 4 6 8 
2 12 10 6  10 40 60 80 
3 18 15 9  3 12 18 24 

5 30 25 15  6 24 36 48 
 fraction decimal fraction 
 1/4 0.25 
 ½ or 5/10 0.5 
 8/10 0.8 
 2/10 0.2 
( 6 marks in all) 
10g flour, 250ml milk, 2 eggs 2 marks for all correct. 

1 mark for at least 2 
4c 

6 1 mark 3a 
2.20 2 marks for correct answer. 1 

mark for correct method if 
answer wrong. 

3a 

8p 2 marks for correct answer. 1 
mark for correct method if 
answer wrong. 

4a 

 Monday,   50 
) Wednesday,   20
160

) 15 

a) 1 mark for all correct
b) 1 mark for all correct
c) 1 mark
d) 1 mark

3a 



 

 

Draft Level Thresholds Y4 Block 2 
 

Below level 2 Level 2 Level 3 Level 4 and above 
0-8 9-21 22-33 34-48 

 2c 2b 2a 3c 3b 3a Level 4 + 
 9-12 13-16 17-21 22-25 26-29 30-33 34-48 

Total marks for part 1 and part 2= 48 
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Answers and suggested mark scheme 

Question 
Number 

Answer Comments 
24 marks in total 

Level  

1 Any 4 true statements e.g. 
1613 < 2349                                          
2349 < 2931                                           
7615 >2931                                          
2931 > 2349 

2 marks for all correct. 
1 mark for at least 2 
correct. 

3a 

2   57 →   60  → 100 
629 → 630  → 600 
  73 →   70  → 100 
585 → 590  → 600 

2 marks. 
1 mark for at least 2 
correct. 

3b 

3  
 
 
 
 
 
 

2 marks, for  all correct. 
1 mark for at least 2 
( accept equivalent 
fractions)  

3a 

4 59 + 41 or 57 + 43 1 mark for either answer 3b 
5  For each grid: 

1 mark 3 correct 
2 marks 6 correct 
3 marks for all correct 

3a 

6  2

7 3
8 £

9 2

10 a)
b
c)
d

 

X 6 5 3  X 4 6 8 
2 12 10 6  10 40 60 80 
3 18 15 9  3 12 18 24 

5 30 25 15  6 24 36 48 
 fraction decimal fraction 
 1/4 0.25 
 ½ or 5/10 0.5 
 8/10 0.8 
 2/10 0.2 
( 6 marks in all) 
10g flour, 250ml milk, 2 eggs 2 marks for all correct. 

1 mark for at least 2 
4c 

6 1 mark 3a 
2.20 2 marks for correct answer. 1 

mark for correct method if 
answer wrong. 

3a 

8p 2 marks for correct answer. 1 
mark for correct method if 
answer wrong. 

4a 

 Monday,   50 
) Wednesday,   20 
 160 
) 15 

a) 1 mark for all correct 
b) 1 mark for all correct 
c) 1 mark 
d) 1 mark 

3a 



 

 

Draft Level Thresholds Y4 Block 2 
 

Below level 2 Level 2 Level 3 Level 4 and above 
0-8 9-21 22-33 34-48 

 2c 2b 2a 3c 3b 3a Level 4 + 
 9-12 13-16 17-21 22-25 26-29 30-33 34-48 

Total marks for part 1 and part 2= 48 
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